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����	 	�	������
�	���	�	?,D-	������
�	��	���
��	E
�����
����	��
��o�
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�
��
	�
���(	������>	�����	����	�;��	��	 ��
���		������	��	�����	F����	1).
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G�	�����	������
���	����18
�	��3�1	
���������	�����������

XA, XB – �/����	��������
��	�����
������	�����0	
	
�15���
����

A, B – 
�15���
�	�/����	�����
�	����0��	����5����	����
������	��	XA i XB,
YC – �/�	�	��������
��	�����
���6	�����0	
	
�15���
����

C – 
�15���
�	�/�	�	�����
�	����0��	����5����	��	YC,
C′ – 
�15���
�	zbiór r����
�	������
���	�����
����

R – ����0��

xA – ������
	�/����	
�15���
���	XA,
xAr – 
�/����	������
	�/����	
�15���
���	XA,
xB – ������
	�/����	
�15���
���	XB,

xBr – 
�/����	������
	�/����	
�15���
���	XB,
yC – ������
	�/����	
�15���
���	YC,

yCr – wynik wyostrzenia zbioru C’,
w – 
���	����0��

N – ����/�	����0�

Fx , Fy , FR – ��0�	���8���1/��	
	���	��
����	
��0�3	���	x, y	�	��0�	�
���1/��	�0��o5��/
�����		R,

R – �0���50	������

xw, yw – 
��	0��8���	��0�3����	
	���	
	��0�����	���
��1�6�����

α,  β – �/
�	����5��1/��	��0�3����	��83���	
	��0�����	�2���������

����������	
�
	�
���

Informacja o zachowaniu obiektu wprowadzana jest do regulatora w formie r���0
�	���y�0���
�1	���
���

R: �� ����xA jest A i xB jest B, to yC jest C (1)

13����	�/���	
	�����
���	A i B	��
���1��	3�	������
��	1��
	����1	
��3��
�	��	���0	�

�����	�����0	
	
�15���
���	xA i xB�	������	�����0�	
�15���
���	
���
��	������8����	����

��	��/	/08�����	�������	���	��
���1�	��	����	
��������
����	����0�	�	
�0�
�	��	���
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�15���
����	���0	�����	��3�	�����1���0	��/	�
�8����0	�����0	����0�	
	��6�o-

�1	
��
�5���	7�3��	1��
�	3�	����	����0�	/8����	/����	���	�
��8	
	
���������	�
���
�����

H�����
���	�/���
���	��	����
�
��	
����1	������	�/	��
�������	�������	��	���0	�enia.
W klasycznym regulatorze rozmytym konkretne sterowanie wyznaczane jest w proce-

sie wyostrzania (defuzzificationI	�/����	
�15���
���	�����
����	���	
��	��	�0�
���	9��!

 ���"� jak i po „to”	
��
8��1/	�/����	�����
�	�	������1�	��	�����	2�
�/	������8	�����atora
rozmytego zaproponowali Takagi i Sugeno [93�	2����0���
�	����0�	
	������
����	4ak���J
4�����	
���/��	���
8��1/��

R: �� ����xA jest A i xB jest B, to yC = f (xA, xB) (2)

G��	����0�	�/�������	1��
	����
��
�	
���	�
���
�����	K�	
�15���	�
�����1�	��8	
���


�50	2����1�	f (xA,,xBI	�	����
����1/�/	1�1	
��8 w�	������
��	
��
�50	�
���
����	
��������
1��
	���	��	����
�
��	
���
������	
�15���
���	�/����	�����
����	���	��	��������	
�������

���	5������1	
�3���1	
�150	�	��������	�����	����0�	4����	���
�/�����	���3��
��	/���
8

�e����
����	�
	��	/8����	������
�0	�
���
�����	
�������
�1/�	�	3��	������	��
���
����

���	����0/�����	����3���	��	
����	
	1����	�/������	���1����	��8	���
���	4��	
�8�	�
���
���

4�����J4�����	��3�	 ��0��0	 2����18	 �
���
����	 �����8������	 ������1/����	 �	
�/����

�����	��
���
�������	�/���
�	 �
���
������	2���15���	 
��	 ������1	��3	
	���������	��a-
��������	������
���	�����
����	
�����	���1���5��	������	��
���
��������	5�850	��z-
��
�	 ������
���	����
���	�0�����	 �
���
����	����	�������������	�/���
�	 ������
�����

�	�/������	
	�
	���	
�3��	1��
	1����	����	��
���
������	��	�/������	
	�
	���	2����1����

1�	�nny.
7	������	���5��	�
���
���	4�����J4�����	����1�	��8	��	���
���
����	
	����������

���	��0��	�����	��
���
�����	������
�����	�/���
�	1��
	�/�
	���������
���	��	
��o-
����
�����	�	��3��	��	����5��0	��	�����	������	�����
����	/8�/����	���	
�������	������y-
za�1�	������	��������
���	
	������
���	����
���	�����
�����	�
��	
	�/���
�	�
���
�����

4����	����15���	
���1�	 ��8	 1�����	�������
�����	��	���
���
����	
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�/�������	G�	�����	1���	�����
����	��	�����/	�����
���	�	
��6	����3�0�/�	����5��0	��3/

����/8	 ����
	
	 ����������1��	 ��	 ����	 ��3��	
�������	
��
���	 �
���	
�������
�0�/�

������/	����/8	����0�

Dlatego do syntezy regulatora rozmytego dla trójwymiarowej suwnicy wybrano kla-
syczny regulator rozmyty Mamdaniego.
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Podstawy teorii	�/���	
	�����
���	�/	�������	��	
����	���	
	68]�	��	
���8��	��
����1��y�
�50	��
���0��	����3�1	����
������	1������	
�	��2����1��	�
	��	�/	��
���/��	��	
��
1�5������	����0����	������
���	�����
����

Definicja 1

Zbiorem rozmytym A w niepustej przestrzeni X nazywamy zbiór par

( ){ }, ( ) : ,AA x x x X= μ ∈  gdzie : [0,  1]A Xμ → (3)



� !������	2�����

1��
	2����1/	��������3��5��	�/����	�����
���	A�	L����1�	
�	����5��	������	��������3��5��

������
�	ze zbioru X	��	�/����	�����
����	7��
�50	"	�������	/���	��������3��5���	
�r-

�50	#	�������	��0��
�
/	��������3��50�	�	
��
�50	��5������	����5���	
	1����	�
�����	��e-
ment zbioru X	����3�	��	�/����	�����
����

Definicja 2

L����18	��������3��5��	�����	T	��2����1���	���
8��1/��

, [ ,  ]

( ; , ) ,  [ ,  ]

0, poza tym

x a b
x a b a

b

a x b
x a b x a a b

b

− +⎧ ∈ −⎪
⎪
⎪ − +⎪μ = ∈ +⎨
⎪
⎪
⎪
⎪⎩

(4)

Definicja 3

L����1�	��������3��5��	�����	Γ	1��
	����5����	�����

0,           

( ; , ) ,    [ ,  ]

1,           

x a b

x a b
x a b x a b a

b

x a

≤ −⎧
⎪
⎪ − +μ = ∈ −⎨
⎪
⎪ ≥⎩

(5)

Definicja 4
L����1�	��������3��5��	�����	L	��	���
�0

1,           

( ; , ) ,    [ ,  ]

0,           

x a

a x b
x a b x a a b

b

x a b

≤⎧
⎪
⎪ − +μ = ∈ +⎨
⎪
⎪ ≥ +⎩

(6)

Definicja 5

H����1/	�����
/	�
	��	�/���	
	��������
���	X i Y nazywamy zbiór rozmyty A o����
5����	��	���������	���
��1�6����	X×Y

( ){ }( , ), ( , ) : , ,AA x y x y x X y Y= μ ∈ ∈  gdzie : ( ) [0,  1]A X Yμ × → (7)



H�����
��	�����
�	1���	�����0��	������
��	��������� �M

7�3���	AX 1��
	��
�����	�/�����	�����
��	����5�����	��	X, a AY  J dowolnym zbio-
rem rozmytym na Y, to zbiór rozmyty A o���5����	
�3�1	/8������	
���
�
�0	�	
���3	1���

�e���18	�����
/	�/���	
	�����
���	AX i AY.
7	
�����	����3�����	��2����1���	A	1��
	�/�����	�����
��	����5�����	��	�/�����	��e-

rozmytym X, a B J	�/�����	�����
��	����5�����	��	�/�����	��������
��	Y.

Definicja 6

Operatorem rozmytym i (czyli AND)	����0�1/���	��	�
�	�/����	�����
�	A i B	�����

���	�����18	�����
/	
���	�/���	
�	��������/	�����	A i B, �	2����1/	��������3�o5��

( ) i ( , ) min ( ), ( )  ,     , .A B A Bx y x y x X y Yμ = μ μ ∈ ∈

Definicja 7

Operatorem rozmytym lub (czyli OR)	����0�1/���	��	�
�	�/����	�����
�	A i B	�����

���	�����18	�����
/	
���	�/���	
�	��������/	�����	A lub B�	�	2����1/	�����a��3��5��

( )lub ( , ) max ( ), ( )  ,     , .A B A Bx y x y x X y Yμ = μ μ ∈ ∈

Definicja 8
H����
/	 ��������1/	 A→B nazywam�	 �����18	 �����
/�	 ����5���/	 ��	 X×Y ����	'

(
��

����

( )( , ) min ( ), ( )  ,     ,A B A Bx y x y x X y Y→μ = μ μ ∈ ∈ (8)

Zamiast A→B	�������	�	
���3�	�� ����x jest A, to y jest B�	���
�3���	3�	��������1�

�	����0/	!���������	1��
	����
�����	�	������1/	i (def. 6).

Definicja 9

�0�3����	�/����	�����
���	A	����5������	��	�/�����	X	�	�����1/	�����
/	R	����5���/
��	���������	���
��1�6����	�/���	
	X×Y oznaczamy .A R� 	7	
�����	�0o3����	�
��y��1�

��8	�/�	�	�����
�	B	����5����	��	�/�����	Y, ,B A R= � 	�	2����1/	���yna��3�o5��

( ) sup ( ) * ( , )  ,    
T

B A R
x X

y x x y y Y
∈

⎛ ⎞
μ = μ μ ∈⎜ ⎟

⎝ ⎠
(9)

gdzie :[0,1] [0,1] [0,1]T × → 	1��
	����/	���
���

* ( , ) min( , )
T

a b T a b a b= = (10)

H�����
��	 �����
�	������1�	�
���
����	
	
�����	����0����	��	�/������	 �����
����

���
���	������
��	
��
�5��	
�15���
�	������
���	8�����0	����/�	�������1�I	����/	���
�0



�N !������	2�����

�������	������1�	��������	8fuzzification), czyli odwzorowania k�����
��1	
��
�5��	xAr	��

�/�	�	�����
��	K�1��85���1	�
���1�	��8	������18	�����
����	�	���
��	singleton

1  dla 
( ) ( )

0  dla 
A Ar

Ar A A Ar
A Ar

x x
x x x

x x

=⎧
μ = δ − = ⎨ ≠⎩

(11)

��0	3���	3�	
	������
����	���2����
���	���
8��1/�/	����08

R: �� ����xA jest A i xB jest B, to yC jest C (12)

����	��	
�15���	������
���	������	�
�	�����0�	xAr i xBr. Rysunek 2	������
�
��	����18
�
2����1�	��������3��5��	���	�/���	
	�����
���	A, B i C	����	2����1�	��������3��5��	��zmy-

���	�����0	
	
�15���
����	
1�	�/���	
	�����
���	Ar i Br�	H�������	�/�	�����0	
	����i-
zuje funkcja singleton (11).

�������	9���	�
	�������
����	�	�����
�	�������	 

:���	�
�	 �
��������	 ������
��	 ���	 �������
��	 ���������	 �
��	 ���
�	 �������	 C′
�	2����1/	��������3��5��	 ( ).C Cy′μ 	�/�	�	
��	1��
	�0�3�����	��������	���
��1�6������	����

��
���	�/���	
	Ar i Br	�	�����
/	��������1/	 ( ) ,A B C→i  co zapisujemy

( )( ) ( )r rC A B A B C′ = →i i� (13)

Zgodnie z definicjami 6 i 8	
���
��������	��	����/
��	����������0��	
�	�	��	2����

�18	��������3��5��	�/����	C′, zgodnie z (9)�	��3��	������
�
�0	1���

( ){ }' ( )
, 

( ) sup min ( , ), ( , , )
r r

A B

C C A B A B A B C A B C
x x

y x x x x y→μ = μ μi i (14)

i dalej

' ( )( ) ( , , ) min( , , )C C A B C Ar Br C Ar Br Cy x x y x x y→μ = μ =i (15)

2�
�3��/	����3��50	����
��1�	�������	3.

 

xA 

1 ( )A Axμ  1 1 
( )B Bxμ  ( )C Cyμ  

xB yC xAr 

( )Ar Axμ  

( )Br Bxμ  

xBr 



H�����
��	�����
�	1���	�����0��	������
��	��������� �;

�������	%��)�	��
	���
������
��
	�����	��	)���	��	�������
����	�	������	������
��	�′

$��	������
��	����5��	
�8����	����/�	����0�	���	��3��1	����0�	
������	��8	����
�����

1/��	1�1	�/�	�	Ci′ 	������������	1��	
	��
�3����	�����0�����	�/�	�	C′.	7���O���	i oznacza
tu nu���	����0��	7	
����	���������	2����18	��������3��5��	�/����	C′ przedstawia wzór

1 2
( ) max( ( ),  ( ),  ..., ( ))

NC C C C C C C Cy y y y′ ′ ′ ′μ = μ μ μ (16)

7�3���	��3��	�	����0	��	���������/	����
�����/	
��8	wi, i = 1, ..., N�	 
�	
�	�	8# I
���
8��1���	�����

1 21 2( ) max( ( ),  ( ),  ...,  ( ))
NC C C C C C N C Cy w y w y w y′ ′ ′ ′μ = μ μ μ (17)

7���	���3��
��	����5�����	
�0�
�	��3��1	����0�	��	��6��
/	
��
�50	�
���
�����

%/�	������0	��6��
/	
��
�50	�
���
�����	����3�	��
����
�0	�/�	�	�����
�	C′ ��
������
�/	
��
�50	yCr�	&�
����
����	 
�	����
�	��8	
���
�������	 �	 1��
	 
�	������1�	od-
wrotna do operacji rozmywania (11)�	P�
���1�	
����	��
��	���������	������
��1	
��
�5��

�
���
�����	7	������
����	������
�
�����	����3�1	
�/����	��
��8	/�����1�	8bisectionI�
�
	�/	�����1�	���
8��1/��	����3��50

( , )

1
( ) min : ( ) ( )

2
C C

Cr C C C C C C C
Y t Y

y C t Y y dy y dy′ ′
∩ −∞

⎛ ⎞
⎜ ⎟′ = ∈ μ = μ
⎜ ⎟
⎝ ⎠

∫ ∫ (18)

)�������������
������	
��
	�
����	

7�3���	������������	
	�
���
����	��
���/	 1��
	������������	��83���	
	/��������

��	 ��osób [13�	2��/���	 ������	 ��	 ��������8���	 ��
����	 �	 ����
�	 ����/
��
���	X0 do
punktu X1	
	
���	����	/�	�/�	
�
0���0	�������1�	
��
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	5��5��	����5�����	H�����
��	���
�0	�/���
���	��	�����/

����8����	Fuzzy Logic Toolbox 9 w pakiecie MATLAB-Simulink. W oprogramow����	
��

��
���1�	��3��
�50	
���
a������	���	��3��1	����0�	
���	w, z zakresu [0, 1].
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��1/	���������
����	Fuzzy Logic�	7���	�������	�	
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	��	��6��	����0�	
	��
������	���/�0����
K�3�1	 ���
����	 ������
�
����	 ������
��	 �����
�	!����������	 �������1/��	 �������
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���	 ��/���
���1���	 ������	 ��
�����	 4����
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�
ia rysunek 4. Nazwy dxw, dyw, dalfa,
dbeta i dR	�/	�	
��
�3��	����1��	Δxw, Δyw, Δα, Δβ i ΔR�	��	
���8�	
	
�����������	�o�
��
0�	
	
����1	2�����	�3�
�	
	���������
����	Fuzzy Logic. Analogicznie oznaczenia fx, fy i fz
�/	 �	
��
�3��	Fx, Fy i Fz�	5�2��	
	��
������	���/�0���	�/��	���
�	 �����0�	�������

���z/8	���2����
�����	���	�����	2����1�	��������3��5���

�����#��'	 
���	�������	�
��������	"������
��

'��������	�
��	������	�
��������	�;	���dy regulacji Δxw, Δyw, Δα, Δβ i ΔR�	7	����
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���	�������	�����	�����
���	�����	Δ�� ���	�������	�����	������
���	�;���
��	Δα

G��	 �����	
	���	
��0�3	���	x (rys. 5I	����18
� 	 3�	
	���	���1��1�	 ��8	
	�������

��0�3e��� 	�����	
	���� 	1�3���	����/	��0�3����	
�����	����!	"/�	�	�����
�	9���:	����5��

2����1�	��������3��5��	�����	T (4) z parametrami a = 0, b = 0,01. Zbiory rozmyte „bli-
sko+” i „bli���J:	����5����	 2����1���	��������3��5��	�����	T z a = 0,05 i b = 0,05 (dla
„blisko+”) i a = J0,05, bCRC# #$	%���	9/�����J:I!	"/�	�	9������Q:	����5����	2����1&	����'

�a��3��5��	�����	Γ (5) z a = 0,1 i b = 0,05. Zbiór „dale��J:	��	 2����18	��������3��5��

�����	L (6) z a = J0,1 i bCRC# #$!	(�����������	���
�0�	���2����
���	2����1�	��������3�o-
5��	�/�o�	
	�����
���	���	��0�3����	
	���	��	��������	���	y (rys. 7).
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���	�������	�����	�����
���	�����	Δ�� ���	�������	�����	������
���	�;���
��	Δβ

)���/���	1��	���	����/�	��0�3����	
	��� 	����5����	2����1�	��������3��5��	���	/08'

��	�/�	�&
	
	α i β (rys. 6 i 8I!	*�83����	
���	�����
� 	1�3���	����/	�/�	�&
	
	
�����	����!

"/�	�	 �����
�	9����:	��	 2����18	��������3��5�� klasy T z a = 0 i bCRC# ##$C���!	"/����

�����
�	9����Q:	 �	9����J:	��1&	 2����1�	��������3��5��	�����	T z bCRC# #S	���	 9��0�Q:
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aC�C����	 ���	 �������	a = �����	�����	 �������	  ��!"� # 	 $�#�%&'	 (���#��!�# "%�	 ���
�	L
z a = �0,2 i b = ����	�����	�����)�	��	$�#�%&*	(���#��!�# "%�	���
�	Γ z a = 0,2 i bCRC# #!

L����1�	 ��������3��5��	 ���	 ��+��0�	 /08��	 �0�+�5��	 �����	ΔR	 ,���!	 -I	 ����5����	 .��
����	1��	2����1�	���yna��3��5��	/08��	��0�3����	/	���!	0����&	�	3���&	1��.	/��.�51	����2

��.��	bCRC# ##3	/	2����1�	����5��1&��1	�/�	�	�ozmyty „cel”.

�����-�	4�����
	�������
������ ������.�	4�����
	�������
������

���	�������	�����	��������	�����	Δ� ���	��
�������	��������;	�����	��

K��.8����	����5����	 2����1�	��������3��5��	�/���	/	 �����.��5	���	 �.���/�6	Fz, Fx
i Fy (rys. 10–12I!	)���18.�	��81	����.�/�/��5	�/���	/	 �����.��56	 9������J: 	 95��d���J: 

9����: 	 95������Q:	 �	 9������Q: 	 �.	���	 ����������	 �	3��	 2����1�	 ��������3��5��	 ���	 ��2

�����+	����5	�.���/�6!	H	3����	����8���	2����1���	��������3��5��	/	�.���/�����5	/	���

,���!	 11 i 12I	/�����1&	 �	 ����+�	 .�����	 �.�.�����+�	 ���	 ���5�	/	 ��������	 ���	 x (10 N),
a innego w kierunku osi y	,,#CKI!	"�	/�+�8��	��	����0�1&�&	��	��83����	��08	���y��&+����	����2

����+� 	��������8.�	/	���/�	2����1�	��������3��5��	���	�.���/����	�0�+�5��&	�����	,���!C10).
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8!�������	��	
���	��
�	��	�
���	�������
�	��������� ��

�������	��	����������	��	�����	�������������		���������	���������� 	������	�	!	��"

���	�	����������	����	Fx	�	��#��		���$	���������	%		
�����	����	����&�	���������	�#	
�

Δxw	 �	�����1������	��5�/�	���5������	�&.�/�+� Δα. '������	 .�	���	��/���5	/��5���6
��83����	 �&	 ���������(	 .��!	 �.���/����	������������1&��	 ��83����	��	 ����	 �/�8����	 1�+�

/��5������!	K���3�0�	/�/��)	���������	����8���	�/���	���������	��+����1�!	'�0�3���(

3�	���/��o/����	���5������	��83����	1��.	/�3���1����	��������	��3	�������	�����/����2

���	+�	��	 ����!	 H�z/�&�����	 .��	���.�/����+�	���/����	 ����/��	 /���������	 .�������.!

'�	3����/a���	/�3�o5��	����6	��������/���	�����	/���/�������	����1���1	/�+�(	�	/��1

*(3, dla re+�0	�.�/��izu1&���5	��0�3����	/	���	 �	/�+�	 �	/��1	+	���	 ��+�0	�.�/�����1&���5
���5������	�&.�/�!	7	���������	/��.&������	���������5��	����8���	�/��/���	�������2

��	/�8����	/�0�/	��	�.���/����	/8�&	���0�	��+�0�	�.�/�����1&��	/��5������	�&.�/�!

+I P2	,�T/	��	������JI	.5��	,2T	��	������QI	,*!9I!

,I P2	,�T/	��	������QI	.5��	,2T	��	������JI	,*!9I!

9I P2	,���2�	��	����JI	.5��	,2T	��	������QI	,+I!

-I P2	,���2�	��	����QI	.5��	,2T	��	������JI	,+I!

3I P2	,�T/	��	���I	���	,���2�	��	����I	.5��	,2T	��	����I	,+I!

 I P2	,���2�	��	����JI	.5��	,2T	��	�������QI	,+I!

MI P2	,���2�	��	����QI	.5��	,2T	��	�������JI	,+I!

NI P2	,�T/	��	/�����QI	.5��	,2T	��	�������JI	,*!9I!

-I P2	,�T/	��	/�����JI	.5��	,2T	��	�������QI	,*!9I!

.����+������	���2����/���	 ��+�0�	+*J+N	�.�/�����1&��	��0�3����	/	���	/	��������

���	y	�	/��5������	/	�0������O���	�&.�	β.

+*I P2	,��/	��	������JI	.5��	,2�	��	������QI	,*!9I!

++I P2	,��/	��	������QI	.5��	,2�	��	������JI	,*!9I!

+,I P2	,��/	��	/�����QI	.5��	,2�	��	�������JI	,*!9I!

+9I P2	,��/	��	/�����JI	.5��	,2�	��	�������QI	,*!9I!

+-I P2	,�/�.�	��	����QI	.5��	,2�	��	������QI	,+I!

+3I P2	,�/�.�	��	����JI	.5��	,2�	��	������JI	,+I!

+ I P2	,�/�.�	��	����JI	.5��	,2�	��	�������JI	,+I!

+MI P2	,�/�.�	��	����QI	.5��	,2�	��	�������QI	,+I!

+NI P2	,��/	��	���I	���	,�/�.�	��	����I	.5��	,2�	��	����I	,+I!

H�+�0�	����5��1&��	���&3����	�.���/����	,+-J,9I	��	�����&	�0�+�5��&	�����	�&	�����

����.���(	�o���/�3	����3&	/�0&�����	��	/08��	�0�+�5��	�����!

+-I P2	,�H	��	������JI	.5��	,2�	��	������JI	,+I!

,*I P2	,�H	��	������QI	.5��	,2�	��	������QI	,+I!

,+I P2	,�H	��	���I	.5��	,2�	��	����I	,+I!

,,I P2	,�H	��	/�����QI	.5��	,2�	��	�������QI	,+I!

,9I P2	,�H	��	/�����JI	.5��	,2�	��	�������JI	,+I!

K�	����.�/��	��5/���������	��/�.�+�	����	�.���/����	�������	��/����(	/���/�2

�����	1������	�/��	��+�0�	�.�/�����1&��	/��5������	��83����	��	�����&	�.���/����	�0�+�2

5��&	�����	FR!	./�	���	���0	��)	����+�	�������	���&3����	��	�����&	�0�+�5��&	�����	R, ste-



 - /������	)�����

rowa���	 .�	/�����+�	 �.�/������18	/��5������	 �&.�/�+�	 .����	 ����	 1�+�	 ��3��5	/��.�2

5����5!

,-I P2	,���2�	��	����QI	��	,�/�.�	��	����QI	.5��	,2�	��	�������JI	,+I!

,3I P2	,���2�	��	����JI	��	,�/�.�	��	����JI	.5��	,2�	��	�������JI	,+I!

Rysunki 13J15	������.�/��1&	/	+��2�����1	2�����	2����1�	�.���/����	��/���&	/	�a-
��3��5��	��	/�15���/��5	��+��0	/	/08��	��+����1�!
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W pierwszym eksperymencie ustawiono ��/���8	/	�������	xw = 0 m, yw = 0 m, α = π/2,
β = 0 i RCRC((N)	�!	H��5�5.���	��83����(	���5���1)�	+�	�	��!	*(+	���	��	�����	/	���������5

�/�	 ���	 x i y!	 K��.8����	 /	 ��/��.�1	 ���������	 ����������.�	 ������	 ����.	 ������/�

xw = 0,6 m, yw = 0,6 m, α = π/2, β = 0 i R = 1,33 m.

���������������+�	,
�����
��	�� �������,�	E�;�	����$�
��	�#	��	Δ��

Rysunki 17 i 18	������.�/��1)	����/��+�	�.���/����	Fx oraz	/08��	��0�3����	/	���
Δxw!	7	����).��/�1	2����(	.1!	��	��/��.�1	�������	����������.�(	�����	��������	����.�

������/�+�(	��+���.��	�.�/�����/�0	��0�3����	��83����	/	�������	����).��/��!	7���*	.�

/���O���	��	�/�	����/��+��5	/08��	��0�3����	/	���	-���!	18 i 20I!	7	���	�������)0	��8

�	�����	���.y��.�	/	/	���������5	�/�	���(	�/�	/�.0���*	/�5����	��83����!

0 10 20 30 40
-40

-30

-20

-10

0

10

20

30

40

0 10 20 30 40

-0.6

-0.5

-0.4

-0.3

-0.2

-0.1

0

0.1

t[s] t[s] 

F
x 
[N

] 

Δ x
w
 [

m
] 



H�+���.��	�����.�	1���	�����0��	��+���.��	�������+� .M

7	��/��.�1	���������	������	����.	������/�!	+�/�.�0�	��3�	��5�/�	��0�3����	/	�,
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7	 ���+��	 �������������	 ��.�/����	 ��/���8	 /	 �������	 xw = 0,6 m, yw = 0,6 m,
α = π/2, β = 0, RCRC(())	�!	+���/���	 ���5�5.���	 ��83����(	���5���1)�	+�	�	��!	*(+	 ���

/	 ��������	 �/�	 ���	 x i y. W czwartej sekundzie eksperymentu zadano punkt docelowy
xw = 0 m, yw = 0 m, α = π/2, β = 0, R = 1,83 m. Rysunki 25–28	������.�/��1)	����/��+�	�.�,
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���������(	��+�0�	��	+1I	�	+2I	��/���1)	��eznaczne zmniejszenie sterowania FR	��	��	/��,

.�5��	/��/�+�8���1!	81�/����	.�	/�����	�obrze ilustruje rysunek 15.
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Rysunki 31 i 32	������.�/��1)	����/��+�	/08�	/	�).	/	α i β. Podobnie jak w poprzed-
���	�������������(	�/�	/��5������	���.�0�	����imalizowane.
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